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Q. The unit of entropy is

(a) kg/JK

(b) J/kg.m

(c) J/kg K

(d) J / S



























Q. A cyclic device operates between three thermal reservoirs, as
shown in the figure. Heat is transferred to/from the cycle device. It is
assumed that heat transfer between each thermal reservoir and the
cyclic device takes place across negligible temperature difference.
Interactions between the cyclic device and the respective thermal
reservoirs that are shown in the figure are all in the form of heat
transfer. [2 Marks]











Q. A heat engine developes 60 kW work having an efficiency of

60%, Amount of heat rejected will be: -

(a) 400 kW

(b) 10 kW

(c) 40 kW

(d) 20 kW



Q. In Carnot cycle, addition and rejection of heat takes

place at: -

(a) Constant pressure

(b) Constant temperature

(c) Constant volume

(d) Constant speed



Q. The change of entropy, when heat is absorbed by

the gas, is

(a) positive

(b) negative

(c) positive or negative

(d) zero



Q. Which one of the following statements applicable to a

perfect gas will also be true for an irreversible process?

(a) δQ = dU + pdV

(b) dQ = TdS

(c) TδS = dU + pdV

(d) None of these



Q. The change in entropy is zero during

(a) Hyperbolic process

(b) Constant pressure process

(c) Reversible adiabatic process

(d) Polytropic process



Q. The main cause of the irreversibility is

(a) Mechanical and Fluid Friction

(b) Unrestricted expansion

(c)Heat transfer with a finite temperature difference

(d) All of the above





Q. An ideal gas of mass m and temperature T1 undergoes a

reversible isothermal process from an initial pressure P1 to final

pressure P2. The heat loss during the process is Q. The entropy

change ∆S of the gas is

(a)𝑚𝑅𝓁𝑛
𝑃2

𝑃1

(b)𝑚𝑅 𝐥𝑛
𝑃1

𝑃2

(c)mR ln
𝑃2

𝑃1
−

𝑄

𝑇1

(d) zero



Q. A heat engine transfers 15 kJ of heat to a

thermal reservoir at 300 K. The change of entropy

of the reservoir in the process is :

(a) ΔSreservoir = −50JK−1

(b) ΔSreservoir = + 50JK−1

(c) ΔSreservoir = + 200KJ−1

(d) ΔSreservoir = + 4500 kJ. K
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